Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN (4

Time:

ISE:

/Note: Answer any FIVE full questions, selectl;a
‘ at least TW O questions from each pa/f\

PART - A

ts es of soil exploration? With a neat sket,c;ﬁi»fexplain any one method.
. & (06 Marks)

eiéplam any one method.
‘vf / (06 Marks)

A sampling tube has mﬁér Jameter of 70 mm and@ufmng edge diameter of 68 mm. Their
outside diameters are 72 mmkand 74 mm respec 'vely Determine the area ratio, inside

dewatermg‘? With a neat sketehi\

N

recovery ratio. (08 Marks)

Distinguish between Boussinesq’s and E es*ergaard s theory of stress distribution. (06 Marks)
Explain construction and uses of Newmark?§ chart. (08 Marks)
A water tank is supported by a ring, foundat;{on having outer diameter of 10 m and inner
dlameter of 7.5 m. The ring foundatton ‘transfi a load intensity of 160 kN/m’. Compute the

of 74 m{be 1bw the centre of ring foundation using
" (06 Marks)

(06 Marks)

(08 Marks)
filter. The coefficients of

horizontal filter. )
For an earth dam of \f\\ jogenous section with hor\% fa}\
cj»if:rections are 8 x 107 cm/s and 3 .6“ )

(06 Marks)

Distinguish bet th‘the active and passive earth pressure. - (04 Marks)
With a neat\skétch explain the procedure to determine the lateral ~garth pressure by
Culmann’s graphlcal method. N \ (08 Marks)
A retammg\ Wall of 8 m height retains sandy material. The properties oq

d =30%
the earth pressure dlagram and determine the magnitude of total active earth press

8 PART - B :
Wlth neat sketch, explain different types of slope failures. (06 T‘/’arks)
Explain Swedish slip circle method for cohesive soils. (06 Marks)

A 5m deep canal has side slopes of 1:1. The properties of soil are C, = 20 KN/m?, ¢, = 10°,

e =0.8 and G = 2.8. If Taylor’s stability number is 0.108, determine the factor of safety w1th
respect to cohesion when canal runs full. Also find the same in case of draw down if
Taylor’s stability number for this condition is 0.137. (08 Marks)

1 of2




op

N (06 Marks)

\Wth  neat sketch, explain plate load test. G # (06 Marks)
Determlnq the safe bearing capacity of a square footmg with 2.1 m width, })Idg,ed at a depth
of 1. ""\m 1n a soil with moist unit welght of 17 kN/m’, C = 15 kN/niwhnd ¢ = 20°. Take

Ne=1 1‘.8’; Ny = 3.9 and N; = 1.7, what is the change in bearing capaci ity if the water table
raises to @ 5 m above the base of footing? Assume factor of safety ¢ as NS, (08 Marks)
Expkunthete%ns

i) Immediate seftlement

ii) Primary conSQ‘!w idation settlement \

iii) Secondary consohdanon settlement QY

iv) Differential settléinent A N (08 Marks)

Estimate the 1mmed1ates\s§tﬁlément of a footing size (2 X \?g‘)’*m resting at a depth of 2m in a
amWsml]%eummw%w“mmMMSM&mlml0Nmm1Themegmemmmwto

transmit a unit pressure of 160 kN/m Assume p T0:28; (06 Marks)

A square footing of width 1.2 ;p re§ts on a satumied clay layer of 4 m deep liquid limit of
clay is 30%, unit weight i is 17. SkN/m mmsturé cdntent is 28% and specific gravity is 2.68.

- (06 Marks)
</f’f»f>\

Explain the factors influencing the sel«éétlon} o“f«'depth of foundation. (06 Marks)

Discuss the proportioning of combined footmgs (06 Marks)

Design a friction pile group to carry a lQad\of 3000 kN including the weight of pile cap at a
site where the soil is uniform clay t¢.a: -depth” 2f}{m underlam by rock. Average unconﬁned
compressive strength of clay is 7(<kN\/m With i

required against shear failure. P (08 Marks)
LN
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